EC-501 (GS)
B.Tech., V Semester
Examination, November 2022
Grading System (GS)
“Microprocessor and its Applications
Time : Three Hours
Maximum Marks : 70
Note: 1) Attempt any five questions.
 fadi dfa wedl ) gar BT

11} All questions carry equal marks.

Tt weAY & W 3 Bl

ii1) Illustrate your answers with neat sketches wherever

necessary.
el ft araegd 8, AT ITRI D T @A B I
TqE BT
iv) Assume suitable data if necessary.
afe anasge 8 At IHYEd ST 7 o
v) Preferably, write the answers in sequential order.
M, IS 5 H I ford|

vi) In case of any doubt or dispute the English version
question should be treated as final.
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1. a) "Tke benefits of RISC design principles were widely
' understood and accepted”. Give two examples of the
benefits of RISC over CISC. 3

*'RISC g Rigial 3 ardi @ 21 &9 W ARy 3k
e fsar w1’ | CISC R o A RISC & @mHl & 3

IETER0T STl
b) Explain briefly about the Pentium burst cycle operation

and 1ts U-pipe and V-pipe operation. 4
dfem av wrfser Aifaker 3R g8 g-digd 3R -u=y
IR & aR A WA F garsy

£ Compare 80386, 80486, and Pentium based on
Architecture. . ' vi
anfHTTR R IR 80386, 80486 3R AT Y qorem
Gl

2. a) Whatis the difference between minimum and maximum
modes of 80867 How are these modes selected? Draw
and explain the minimum mode configuration of a
microprocessor 8086 based computer system. 7

8086 ¥ ~gTan ik fiean Wie & fig Fm 3R T2 A6
FE g oA B 0D AR 8086 ImUTRA deR
Riven & Wi Al SRR & g1 3% 3N FmemEy)

b) Explain the various addressing modes of 8086 with

sujtabl.e example. What are displacement, base and index?
What is an effective address or offset? ' 7

8086 3 fafdyst G siiger o wugERT SeTRR wike TSR
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3.

a)

b)

3]

Given that the stack segment register is pointing to
location 2408h, the stack pointer register contains 000Ab,
location 2408Ah contains 8934h and location 2408Ch
contains 1243h,indicate the address of the bottom of the

stack, and the address of the top of the stack. If the

instruction POP A X followed by instruction POP BX are
performed, calculate the new value of SP and the values
of AX and BX. 3

77 AW &Y 6 VR Wrie RRER 2408h U 6 AR
qigfen o @1 81 W% disex IR § 000Ah TAF 2408Ah
¥ 8934h 3k ¥ 2408Ch ¥ 1243h A &, Ve H A
1 Tl 3R ¥ & oftd = uar $fa Fwan g1 1fe sy pOP

AX ¥ qQ1E 33 POP BX T Si7all 81 &) SP &6 A¢ 719 3iR

AX 3R BX & gr=1 &Y o= |
What is the difference between CALL and JMP instruction
of BOB6 microprocessors? ST
8086 FTSIHINERI & CALL 3R IMP fréer & o1 sTaR £ 7

Write an 8086 program to clears the 4 lest significant
bits of BL without changing other bits and store result in
BH?

7
I facH &t 9get fd1 BL & 4 waw @9 ngaaqef faga &

-fFomR g & f31T 8086 M ford 3k oRum &) BH
¥R TR

Determine the control word fﬂr the full-:}wmg
configuration of 8255: 3
8255 & FrafaRea fB=ma & forg Pz g Pruffe
Port A - Output

Mode of port A - Mode 1

Port B - OQutput

Mode of port B - Mode 0

Port C lower (pins PCQO - PC2) - Qutput.
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b)- Staﬂ: the differences betwceil 1#Omapped /O and MCIT]G[‘F

b)
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mapped V0. 4
1O #E fpe e /0 3R 3R #s U /O & dha sk

Foilgl!

~ Explain how eight ON/OFF switches can be interfaceq

with a microprocessor using 8255 port? Give the hardware
and software of it. 7

FTeTTET 6 8255 ¢ 1 TUANT Hb AISHIHRITR F |iey'
3Te =e/4% feaE W geXhy [y S wahd €)1 g
gIeaaR 3k HivcaaR &)

Show how to interface an 8255 chip to the low byte of

the 8086 (D0O-D7)? Assume the followmg /O addre$s
ports are used. _ 7

fomTd 6 8255 2y =1 8086 {Dﬂ-mj FAA IR AT

© Hrgr @l A o 36 A 1o et O Suam fsn s

Port Name - Port Address
Port A 00H -~
Port B 02H
Port C 04H

Control 06H

~Write a program to interface a 10-key matrix keyboard to

an 8086 microprocessor using the 8255A in mode 0. 7

1S 0H 8255A W IWT @=E 8086 ATHMITER ¥ 1Y

;@ﬁﬁ&wﬁaﬁéaﬁmﬂmmﬁﬁsm@m
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a)

b)
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With the help of block diagram explain the various modes
of operation of 8259 in detail. 7

el Imxg &t GErad & 8259 & HaTerd > At adwl

Pl fIar I arET

Show how to interface the 8253 to the low byte of the
8086 (DO-D7)? Assume the following /O port addresses

are used. https://'www.rgpvonline.com 7

fawaTd 5 8253 Y 8086 (DO-D7) & B FgT & Y Fi

S0 51 & B FreafRiRed VO 91 9ait 1 Iaav fasar e B

Register Port Address
Counter .0 08h
Counter 1 0Ah
Counter 2 0Ch
Control Word OEh

Which mode will you use to generate a square wave? Give
a flow chart to generate it on 8253. 7

FHERR 39 3095 @ & (27¢ a9 5 A1 o7 Sud 32
T 8253 W TFRE T & A7 & gt = 3

Initialize the 8257 DMA controller to transfer 2KB from
memeory address 75000h to channel 1 of the 8257 DMA..

The 1I/Q ports of the 8257 are connected with the
8086 from address 70h. Transfer 4 MSBs of memory

_ address through O/P port 80h. 7

8257 DMA & 75000h 991 39 & 2KB &t 8257 DMA
¥ 4 | F e = & AT 8257 DMA FgioR &Y
SFRRmeES P4 8257 F VO TS 8086 F 9 70h A 2
gqﬁlomqﬁésnhésmmﬁ#ﬁﬁ@ﬂaumsagmw
aa‘kl
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8. a) Listaddressing modes of 8051 microcontrolier with {me

b)

FC-501

suitable instruction each.

e S e & Ay SGSMEﬂﬁaﬁ’laﬁﬁqgﬁmq‘ig

DI glag
Show the contents of stack after execution of follows
instructions. 3

frfaias Feel & P & o 3 6wt R
MOV R, #11H - |

MOV R2, #22H

MOV R3, #33H

PUSH 1

PUSH 2

PUSH 3

Describe tl'!e_alternate functions of port 3 of 8051
microcontrollers. - 4

805 1 9TgeheIerd & UIC 3 & dafeles &l & aufH &)

e o oo o



